

19/EMG03/019

CIVIL ENGINEERING

MAT 104

$$1) \quad y = \frac{(2x^2 + 3)}{\ln 2x}$$

$$\ln y = \ln(2x^2 + 3) - \ln(\ln 2x)$$

$$\frac{1}{y} \cdot \frac{dy}{dx} = \frac{1}{2x^2 + 3} \cdot 4x - \frac{1}{\ln 2x} \cdot \frac{2}{2x}$$

$$\frac{dy}{dx} = y \left(\frac{4x}{2x^2 + 3} - \frac{1}{x \ln 2x} \right)$$

$$\text{When } x = 2.5 \quad \frac{dy}{dx} = \frac{2(2.5^2) + 3}{\ln 2(2.5)} \left[\frac{4(2.5)}{2(2.5^2) + 3} - \frac{1}{2.5 \ln(2 \times 2.5)} \right]$$

$$= 3.82$$

$$2) \quad y = \frac{2x}{x^2 - 5}$$

$$\ln y = \ln 2x - \ln x^2 - 5$$

$$\frac{1}{y} \cdot \frac{dy}{dx} = \frac{1}{2x} \cdot 2 - \frac{1}{x^2 - 5} \cdot 2x$$

$$\frac{dy}{dx} = y \left(\frac{2}{2x} - \frac{2x}{x^2 - 5} \right)$$

$$= \frac{2x}{x^2 - 5} \left(\frac{1}{x} - \frac{2x}{x^2 - 5} \right)$$

$$\text{at } x = 2.4, \quad \frac{dy}{dx} = -37.26$$

$$3) Z = 2x^3 \ln y$$

$$\frac{dz}{dy} = \frac{1}{y}$$

$$4) \int_0^2 x (2x^2 + 1)^{\frac{1}{2}} dx$$

$$y = 2x^2 + 1$$

$$\frac{dy}{dx} = 4x \quad dx = \frac{dy}{4x}$$

$$\begin{aligned} \therefore \int_0^2 x (2x^2 + 1)^{\frac{1}{2}} &= \int_0^2 x y^{\frac{1}{2}} \cdot \frac{dy}{4x} \\ &= \frac{1}{4} \int_0^2 y^{\frac{1}{2}} \cdot dy \\ &= \frac{1}{4} \int_0^2 \frac{y^{\frac{3}{2}}}{\frac{3}{2}} + C \\ &= \frac{1}{4} \int_0^2 \frac{(2x^2 + 1)^{\frac{3}{2}}}{\frac{3}{2}} \\ &= \frac{1}{4} \left[\frac{2(2(2)^2 + 1)^{\frac{3}{2}}}{\frac{3}{2}} - \frac{2(2(0)^2 + 1)^{\frac{3}{2}}}{\frac{3}{2}} \right] \\ &= \frac{2(9)^{\frac{3}{2}}}{12} - \frac{2(1)^{\frac{3}{2}}}{12} \\ &= \frac{54 - 2 \cdot 8}{12} \\ &= \frac{51 \cdot 2}{12} \end{aligned}$$

$$= 4 \cdot 2 \frac{1}{2} = 4 \cdot 27$$